Sr Questions Answers Choice

A. Calcium

. Sulphur&nbsp;
. Phosphorus
Nitrogen

[oe]

1 The element which is required by the plant in large quantity?

Albumin

Urea

. Creatinine&nbsp;
Sodium

2 The abnormal constituent of urine is:

Albumin
Urea

. Creatinine
Sodium

3 The abnormal constituent of urine is?

. Cockroach and Silverfish
Earthworm and Leech
Man and Whale
Tadpole larva and fish

4 Which of the following pairs has open type of circulatory system?

. Hydrochloric acid
. Acetic acid
Methanoic acid
Citric acid

5 Human stomach produces acid which helps in digestion of food, Acid is?

Methanoic acid
Acetic acid
Sulfuric acid

. Citric acid

6 A beeo-sting leaves an acid which causes pain and irritation, Which type of theis acid?

. Partial root parasite
. Stem parasite

. Total stem parasite
. Total root Parasite

7 Sandalwood three is considered a:

. B or A&nbsp;
AB or B&nbsp;
. AB or A&nbsp;
A or O&nbsp;

8 An individual whose blood type is B may in an emergency donate blood to a person whose
blood type is?

C.N Barnard&nbsp;
D.s. Paintal

D. Shetty

P.K. Sen&nbsp;

9 First successful heart transplantation was done by?

Freon

Carbon dioxide&nbsp;

. &nbsp;Carbon monoxide.
. Chloro flurorcarbon

10 Which one of the following is a major green house gas?
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